Math 120 - Quiz 2 - October 15, 2015
Name and Section SD /a f’ o” S

A particle starts at the point A(3,0) at ¢ = 0 and
arrives at C(15, 2) after two seconds, traveling at
constant speed. At the point D, it is closest to
the point B(13,0).

Give your answers in exact form. The figure is °
not to scale.

(a) (2 points) Compute the speed of the pzrtlcle C
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(b) (5 points) Find equations of the lines AC' and DB and use them to find the coordinates of the point

D. Then find the distance AD.
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(c) (2 points) Find the distance AD using similar triangles. State the pair of similar triangles and write
the ratios. Hopefully, you got the same answer as part (b). Don’t panic if you did not.
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(d) (1 pomt) Find the time when the particle reaches the point D.
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